## SUPPORTED LIVING - Report Quarter: 01/03/23-30/06/23

OJEU Ref. No.	Registered Name of Supplier	Title of call for competition	Supplier Registered Address	Type of Placement	Start Date	End Date (if applicable)	Number of Responses	Supplier SME response	Supplier VCSE response	Date of conclusion of the contract	Award Criteria	Value (Total Weekly Price)	Total value if open until 30/09/2023	Total Value For Provider
2023/S 179- 559548	Achieve together Limited	SS 8607833	Poolemead House Watery Lane Twerton BathBA2 1RN	Learning Disability	30/01/2023		1	No	Not applicable		Emergency	£475.18	£16,563.42	£16,563.42
2023/S 179- 559548	Affinity Trust	IA949 Supported Living AB 7130926	Wellington St Thame Oxfordshire OX9 3WT	Learning Disability	25/02/2023	31/03/2023	4	No	Not applicable		Standard	£1,012.45	£5,062.25	£84,199.30
2023/S 179- 559548	Affinity Trust	IA949 supported living ID 100055793- AW	Wellington St Thame Oxfordshire OX9 3WT	Learning Disability	28/04/2023		1	No	Not applicable		Emergency	£1,569.29	£79,137.05	·
2023/S 179- 559548	ANGEL AND STAR CARE SERVICES LTD	IA949 - 5611514 Supported Living - HK	57 Rowan Crescent Rowan Crescent, Biggleswade, England, SG18 0PG	Mental Health	13/03/2023	19/03/2023	3	Small	Not applicable		Standard	£64.00	£128.00	
2023/S 179- 559548	ANGEL AND STAR CARE SERVICES LTD	IA949 - 5611514 Supported Living - HK	57 Rowan Crescent Rowan Crescent, Biggleswade, England, SG18 0PG	Mental Health	27/03/2023	02/04/2023	3	Small	Not applicable		Standard	£128.00	£128.00	
2023/S 179- 559548	ANGEL AND STAR CARE SERVICES LTD	IA949 - 5611514 Supported Living - HK	57 Rowan Crescent Rowan Crescent, Biggleswade, England, SG18 0PG	Mental Health	03/04/2023	09/04/2023	3	Small	Not applicable		Standard	£242.00	£242.00	£287,119.40
2023/S 179- 559548	ANGEL AND STAR CARE SERVICES LTD	IA949 Supported Living - CF 100091310 CJ	57 Rowan Crescent Rowan Crescent, Biggleswade, England, SG18 0PG	Learning Disability	11/04/2023		2	Small	Not applicable		Standard	£3,301.90	£174,529.00	
2023/S 179- 559548	ANGEL AND STAR CARE SERVICES LTD	IA949 9710852 Supported Living - HK	57 Rowan Crescent Rowan Crescent, Biggleswade, England, SG18 0PG	Mental Health	19/06/2023		14	Small	Not applicable		Standard	£2,606.80	£112,092.40	
2023/S 179- 559548	Arreta Care Limited	IA949 Supported Living KB 4057895 - CJ	78A BOND WAY, HEDNESFORD, STAFFS, WS124SN.	Learning Disability	08/06/2023		4	SME	Not applicable		Standard	£2,960.74	£131,964.41	£131,964.41
2023/S 179- 559548	Aspirations Care Ltd	IA949 9031886 - Supported Living - HK	Barnwood Business Park, Corinium Avenue,	Learning Disability	24/04/2023	30/04/2023	3	No	Not applicable		Emergency	£2,840.40	£2,840.40	
2023/S 179- 559548	Aspirations Care Ltd	IA949 9031886 - Supported Living - HK	Coninantinouse, Barnwood Business Park, Corinium Avenue,	Learning Disability	02/05/2023	07/05/2023	3	No	Not applicable		Emergency	£2,840.40	£2,434.63	£428,660.02
2023/S 179- 559548	Aspirations Care Ltd	IA949 9031886 - Supported Living - HK	Barnwood Business Park, Corinium Avenue,	Learning Disability	08/05/2023		3	No	Not applicable		Emergency	£8,640.51	£423,384.99	
2023/S 179- 559548	Caremax support services Ltd	IA949 Supported Living IC 4239428 LP	Caremat*support services Suite 38, 2nd Floor, 2nd Building	Mental Health	05/05/2023		5	Yes	Not applicable		Standard	£1,181.02	£58,376.13	£58,376.13

			TOUT FIOOT										
2023/S 179- 559548	CareTech Community Services Ltd	STANDARD IA949 Supported Living RS9054162	Metropolitan House 3 Darkes Lane Potters Bar	Learning Disability	30/05/2023		1	N/A	Not applicable	Standard	£1,801.24	£82,599.72	£151,361.03
2023/S 179- 559548	CareTech Community Services Ltd	IA949 Supported Living CH 9691096 CJ	Metropolitan House 3 Darkes Lane Potters Bar Unit'rs/x berome Roau	Learning Disability	12/05/2023		3	N/A	Not applicable	Standard	£1,419.85	£68,761.31	2101,501.00
2023/S 179- 559548	Catherine Care Limited	IA949 Supported Living 6200717	Business Park Norton Canes Cannock Staffask bistome Roau	Learning Disability	03/04/2023	08/04/2023	2	Small	Not applicable	Standard	£1,132.99	£971.13	£66,610.00
2023/S 179- 559548	Catherine Care Limited	IA949 Supported Living 6200717	Business Park Norton Canes Cannock Sintin relyires Allerbury	Learning Disability	09/04/2023		2	Small	Not applicable	Standard	£1,235.14	£65,638.87	200,010.00
2023/S 179- 559548	CHARICE HEALTHCARE LTD	IA949 Supported Living JH 9842228 LP	Lakes Fairbourne Drive, Atterbury, Milton Keynes, England, MK10	Physical Disability - Under 65	26/05/2023		5	SME	Not applicable	Standard	£1,680.00	£78,000.00	£78,000.00
2023/S 179- 559548	Creative Support Ltd	IA949 Supported Living AB 100101227 LP	Wellington House, 131 Wellington Road South, Stockport, SK1 3TS	Learning Disability	13/04/2023		5	No	Not applicable	Standard	£392.57	£20,637.97	£74.836.15
2023/S 179- 559548	Creative Support Ltd	AK 2406296	Wellington House, 131 Wellington Road South, Stockport, SK1 3TS	Learning Disability	22/10/2022		1	No	Not applicable	Emergency	£1,102.87	£54,198.18	174,030.13
2023/S 179- 559548	Golden Living Care Services Ltd	IA949 Supported Living TB 1302425	15 Western Parade, Raydean House, Barnet, London, EN5 1AH	Physical Disability - Under 65	27/05/2023		1	Yes	Voluntary Community Social Enterprise (VCSE)	Standard	£1,341.62	£62,097.84	
2023/S 179- 559548	Golden Living Care Services Ltd	IA949 Supported Living LC 100054162 CJ	15 Western Parade, Raydean House, Barnet, London, EN5 1AH	Learning Disability	12/05/2023		2	Yes	Voluntary Community Social Enterprise (VCSE)	Standard	£1,916.25	£92,801.25	£289,229.52
2023/S 179- 559548	Golden Living Care Services Ltd	IA949 Supported Living MS 9652047 LP	15 Western Parade, Raydean House, Barnet, London, EN5 1AH	Mental Health	09/05/2023		6	Yes	Voluntary Community Social Enterprise (VCSE)	Standard	£1,204.50	£58,848.43	1209,229.32
2023/S 179- 559548	Golden Living Care Services Ltd	IA949 Supported Living CJ 9706675 LP	15 Western Parade, Raydean House, Barnet, London, EN5 1AH	Mental Health	12/06/2023		2	Yes	Voluntary Community Social Enterprise (VCSE)	Standard	£1,715.50	£75,482.00	
2023/S 179- 559548	GP Homecare Limited	9833973	Mercia House, 15 Galena Close, Tamworth, Staffordshire, B77 4AS	Learning Disability	20/10/2021	31/03/2022	1	No	Not applicable	Emergency	£186.47	£4,342.09	
2023/S 179- 559548	GP Homecare Limited	9833973	Mercia House, 15 Galena Close, Tamworth, Staffordshire, B77 4AS	Learning Disability	01/04/2022	31/03/2023	1	No	Not applicable	Emergency	£198.11	£10,330.02	£27,144.25
2023/S 179- 559548	GP Homecare Limited	9833973	Mercia House, 15 Galena Close, Tamworth, Staffordshire, B77 4AS	Learning Disability	01/04/2023		1	No	Not applicable	Emergency	£229.75	£12,472.14	

2023/S 179- 559548	GP Homecare Limited t/a Radis Community Care	BM 9833973	Mercia House, 15 Galena Close, Tamworth, Staffordshire, B77 4AS	Learning Disability	20/10/2021		1	No	Not applicable	Emerg	ency £186.4	7 £18,940.02	£18,940.02
2023/S 179- 559548	Independence Support Ltd	9833973	Windsor House, Bayshill Road, Cheltenham, Gloucestershire, England GL50 3AT	Mental Health	15/03/2023		1	Yes	Not applicable	Emerg	ency £864.4	£49,023.83	£49,023.83
2023/S 179- 559548	Individual Care Services	IA949 Supported Living CE 100125392 and RE 100123161 LP	25 Alcester Road, Studley. Warwickshire B80 7LL	Learning Disability	20/04/2023	31/05/2023	2	Yes	Not applicable	Emerg	ency £867.3	£5,203.80	
2023/S 179- 559548	Individual Care Services	IA949 Supported Living CE 100125392 and RE 100123161 LP	25 Alcester Road, Studley. Warwickshire B80 7LL	Learning Disability	20/04/2023	31/05/2023	2	Yes	Not applicable	Emerg	ency £867.3	£5,203.80	£68,720.80
2023/S 179- 559548	Individual Care Services	IA949 Supported Living CE 100125392 and RE 100123161 LP	25 Alcester Road, Studley. Warwickshire B80 7LL	Learning Disability	01/06/2023		2	Yes	Not applicable	Emerg	ency £639.8	£29,156.60	£68,720.80
2023/S 179- 559548	Individual Care Services	IA949 Supported Living CE 100125392 and RE 100123161 LP	25 Alcester Road, Studley. Warwickshire B80 7LL	Learning Disability	01/06/2023		2	Yes	Not applicable	Emerg	ency £639.8	£29,156.60	
2023/S 179- 559548	JS Supported Living Services Ltd	IA949 Supported Living DL 9742581 CJ	PO Box 206A 18-22 St. Peters Churchyard 206a Derby England DE1 1NN	Mental Health	05/03/2023	04/04/2023	2	N/A	Not applicable	Stand	ard £2,826.1	3 £12,515.94	£12,515.94
2023/S 179- 559548	Jump 2 Independence Ltd.	IA949 Supported Living SG 5101026	Suite G46 The Old Police Station 4Baker Street Fenton Stoke on Trent Staffordshire ST4 3AF	Learning Disability	10/05/2023		3	SmallN/	Not applicable	Stand	ard £1,105.8	7 £53,871.67	£53,871.67
2023/S 179- 559548	Lifeways Community Care Ltd		No. 2 The Square, Birchwood Boulevard, Warrington, WA3 7QY	Learning Disability	03/06/2023		1	No	Not applicable	Emerg	ency £1,604.3	1 £72,652.32	£72,652.32
2023/S 179- 559548	Lifeways SIL Ltd	IA949 Supported Living - 9646229	No. 2 The Square, Birchwood Boulevard, Warrington, England, WA3 7QY	Mental Health	17/10/2022	30/10/2022	1	No	Not applicable	Emerg	ency £160.0	£320.00	
2023/S 179- 559548	Lifeways SIL Ltd	IA949 Supported Living - 9646229	No. 2 The Square, Birchwood Boulevard, Warrington, England, WA3 7QY	Mental Health	31/10/2022	13/11/2022	1	No	Not applicable	Emerg	ency £551.1	£1,102.20	

			No. 2 The Square,	1									1
2023/S 179- 559548	Lifeways SIL Ltd	IA949 Supported Living - 9646229	Birchwood Boulevard, Warrington, England, WA3 7QY	Mental Health	14/11/2022	20/11/2022	1	No	Not applicable	Emergency	£1,031.10	£1,031.10	
2023/S 179- 559548	Lifeways SIL Ltd		No. 2 The Square, Birchwood Boulevard, Warrington, England, WA3 7QY	Mental Health	21/11/2022		1	No	Not applicable	Emergency	£1,424.92	£104,019.16	£243,042.48
2023/S 179- 559548	Lifeways SIL Ltd	IA949 Supported Living CM 9858524	No. 2 The Square, Birchwood Boulevard, Warrington, England, WA3 7QY	Mental Health	24/04/2023		1	No	Not applicable	Standard	£1,033.81	£52,724.31	
2023/S 179- 559548	Lifeways SIL Ltd	IA949 Supported Living JG 9064984 LP	No. 2 The Square, Birchwood Boulevard, Warrington, England, WA3 7QY	Mental Health	02/05/2023		5	No	Not applicable	Standard	£876.00	£43,674.86	
2023/S 179- 559548	Lifeways SIL Ltd	IA949 Supported Living CA 9650703 LP	No. 2 The Square, Birchwood Boulevard, Warrington, England, WA3 7QY	Mental Health	30/05/2023		4	No	Not applicable	Standard	£876.00	£40,170.86	
2023/S 179- 559548	Living Ambitions Ltd		No. 2 The Square, Birchwood Boulevard, Warrington, WA3 7QY	Learning Disability	15/05/2023		1	No	Not applicable	Emergency	£1,043.98	£50,111.04	
2023/S 179- 559548	Living Ambitions Ltd	IA949 Supported Living TB 7114990 CJ	No. 2 The Square, Birchwood Boulevard, Warrington, WA3 7QY	Learning Disability	03/04/2023	08/04/2023	2	No	Not applicable	Standard	£957.65	£820.84	£59,283.72
2023/S 179- 559548	Living Ambitions Ltd	IA949 Supported Living TB 7114990 CJ	No. 2 The Square, Birchwood Boulevard, Warrington, WA3 7QY	Learning Disability	09/04/2023	03/06/2023	2	No	Not applicable	Standard	£1,043.98	£8,351.84	
2023/S 179- 559548	Med Care Home Services Limited	IA949 Supported Living JP 5127133 CJ	2nd Floor 9 Portland Street Manchester M1 3BE	Mental Health	17/05/2023		4	Yes	Not applicable	Standard	£1,181.68	£56,383.02	£56,383.02
2023/S 179- 559548	Oxygen Housing and Supported living Services Ltd	IA949 Supported Living MW 9851578 CJ	Oxygen Housing and Supported Living 76 Bridgford Road West Bridgford Nottingham England NG2 6AX	Learning Disability	05/04/2023		1	Yes, SME	Voluntary Community Social Enterprise (VCSE)	Standard	£2,300.00	£123,542.86	£123,542.86
2023/S 179- 559548	Rockspur CIC	IA949 Supported Living RF 6202118 CJ	Rockspur CIC South Staffordshire Business Hub Wolverhampton Road Codsall Staffordshire WW8 1PX	Learning Disability	01/07/2023		8	N/A	Not applicable	Standard	£881.22	£36,381.80	£36,381.80
2023/S 179- 559548	Safehands Recruitment LTD	AW 1128087 IA949 Supported Living	Safehands Recruitment Ltd Manor Park Offices Rutherford Way, Cheltenham GL51 9TU	Learning Disability	04/05/2023		2	N/A	Not applicable	Standard	£500.00	£24,785.71	£24,785.71
2023/S 179- 559548	Solutions In Service Ltd	IA949 Supported Living MA 100428768 LP	Technology Centre Inward Way Ellesmere Port CH65 3EN	Mental Health	27/06/2023	03/07/2023	3	Yes	Not applicable	Standard	£194.30	£194.30	

2023/S 179- 559548	Solutions In Service Ltd	IA949 Supported Living MA 100428768 LP	Technology Centre Inward Way Ellesmere Port CH65 3EN	Mental Health	04/07/2023	10/07/2023	3	Yes	Not applicable	Standard	£205.38	£205.38	
2023/S 179- 559548	Solutions In Service Ltd	IA949 Supported Living MA 100428768 LP	Technology Centre Inward Way Ellesmere Port CH65 3EN	Mental Health	11/07/2023	17/07/2023	3	Yes	Not applicable	Standard	£308.07	£308.07	
2023/S 179- 559548	Solutions In Service Ltd	IA949 Supported Living MA 100428768 LP	Technology Centre Inward Way Ellesmere Port CH65 3EN	Mental Health	18/07/2023	24/07/2023	3	Yes	Not applicable	Standard	£410.76	£410.76	£62,519.63
2023/S 179- 559548	Solutions In Service Ltd	IA949 Supported Living MA 100428768 LP	Technology Centre Inward Way Ellesmere Port CH65 3EN	Mental Health	25/07/2023		3	Yes	Not applicable	Standard	£718.85	£27,213.61	102,519.03
2023/S 179- 559548	Solutions In Service Ltd	IA949 Supported Living 1137478	Technology Centre Inward Way Ellesmere Port CH65 3EN	Mental Health	08/05/2023	14/05/2023	3	Yes	Not applicable	Emergency	£194.30	£194.30	
2023/S 179- 559548	Solutions In Service Ltd	IA949 Supported Living 1137478	Technology Centre Inward Way Ellesmere Port CH65 3EN	Mental Health	15/05/2023	21/05/2023	3	Yes	Not applicable	Emergency	£205.38	£205.38	
2023/S 179- 559548	Solutions In Service Ltd	IA949 Supported Living 1137478	Technology Centre Inward Way Ellesmere Port CH65 3EN	Mental Health	22/05/2023		3	Yes	Not applicable	Emergency	£718.89	£33,787.83	
2023/S 179- 559548	St Matthews Support Services Limited	IA949 Supported Living SS 100460025 CJ	1 Parkside Court. Greenhough Road Lichfield Staffordshire WS13 7FE	Mental Health	17/04/2023		8	Small	Not applicable	Emergency	£757.44	£39,386.88	£39,386.88
2023/S 179- 559548	Supported Homes Limited	IA949 Supported Living SS 9825217 CJ	Harlaxton House, Unit 3, Long Bennington Business Park, Main Road, Long Bennington, NG23 5JR	Mental Health	12/06/2023		3	Yes	Not applicable	Standard	£1,300.83	£57,236.52	£57,236.52
2023/S 179- 559548	Swan Care Solutions ltd	IA949 Supported Living ED 100113287 LP	ROOM 203 Denning House 1A George Street Wolverhampton WV2 4DP	Mental Health	13/04/2023		10	Small	Not applicable	Emergency	£1,911.66	£100,498.70	
2023/S 179- 559548	Swan Care Solutions ltd	IA949 supported living ID 8057781- AB	ROOM 203 Denning House 1A George Street Wolverhampton WV2 4DP	Learning Disability	10/05/2023		1	Small	Not applicable	Emergency	£5,657.88	£275,619.58	£376,118.28
2023/S 179- 559548	Transparent Care Limited	2100481	7 McBride House 32 Penn Road Beaconsfield Bucks HP9 2FY	Learning Disability	01/06/2021		1	SME	Not applicable	Emergency	£1,428.30	£214,040.96	£214,040.96
2023/S 179- 559548	Unique Care Network Limited	IA949 - 7129370 - Supported Living	Office 203 Unit 2, Sandwell Business Development Centre, Smethwick, West Midlands, United Kingdom, B66 1NN	Mental Health	17/04/2023	23/04/2023	5	Small	Not applicable	Standard	£694.36	£694.36	

2023/S 179- 559548	Unique Care Network Limited	IA949 - 7129370 Supported Living	Office 203 Unit 2, Sandwell Business - Development Centre, Smethwick, West Midlands, United Kingdom, B66 1NN	Mental Health	24/04/2023	30/04/2023	5	Small	Not applicable	Standard	£1,041.54	£1,041.54	
2023/S 179- 559548	Unique Care Network Limited	IA949 - 7129370 Supported Living	Office 203 Unit 2, Sandwell Business Development Centre,	Mental Health	01/05/2023	07/05/2023	5	Small	Not applicable	Standard	£1,735.90	£1,735.90	
2023/S 179- 559548	Unique Care Network Limited	IA949 - 7129370 Supported Living	Office 203 Unit 2, Sandwell Business Development Centre,	Mental Health	08/05/2023	14/05/2023	5	Small	Not applicable	Standard	£1,735.90	£1,735.90	
2023/S 179- 559548	Unique Care Network Limited	IA949 - 7129370 Supported Living	Midlands, United Kingdom, B66 1NN	Mental Health	15/05/2023	21/05/2023	5	Small	Not applicable	Standard	£1,735.90	£1,735.90	£13,887.20
2023/S 179- 559548	Unique Care Network Limited	IA949 - 7129370 Supported Living	Office 203 Unit 2, Sandwell Business - Development Centre, Smethwick, West Midlands, United Kingdom, B66 1NN	Mental Health	22/05/2023	28/05/2023	5	Small	Not applicable	Standard	£1,735.90	£1,735.90	
2023/S 179- 559548	Unique Care Network Limited	IA949 - 7129370 Supported Living	Office 203 Unit 2, Sandwell Business - Development Centre, Smethwick, West Midlands, United Kingdom, B66 1NN	Mental Health	29/05/2023	04/06/2023	5	Small	Not applicable	Standard	£1,735.90	£1,735.90	
2023/S 179- 559548	Unique Care Network Limited	IA949 - 7129370 Supported Living	Office 203 Unit 2, Sandwell Business - Development Centre, Smethwick, West Midlands, United Kingdom, B66 1NN	Mental Health	05/06/2023	11/06/2023	5	Small	Not applicable	Standard	£1,735.90	£1,735.90	
2023/S 179- 559548	Unique Care Network Limited	IA949 - 7129370 Supported Living	Office 203 Unit 2, Sandwell Business - Development Centre, Smethwick, West Midlands, United Kingdom, B66 1NN	Mental Health	12/06/2023	18/06/2023	5	Small	Not applicable	Standard	£1,735.90	£1,735.90	
							224				£53,436.93	£3,276,397.27	£3,276,397.27